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Q.1 Slope at the support end of a simply supported beam subjected to uniformly distributed load w throughout its length I is
equal to (where elasticity £ and moment of inertia I are constant):

Ans

Question ID : 16794327703
Status : Answered
Chosen Option: 1

Q2 WWhich of the following bolts have high tensile strength?
Ans o 1. High strength bolt

X 2 Unfinished bolts

# 3. Turned bolt

X 4 Ribbed bolt

Question ID : 16794327714
Status : Answered
Chosen Option: 1

Q.3 The vertical distance between two consecutive treads in a staircase is called as:
Ans  of 1. Riser

< 2. Waist

/< 3. Nosing

X 4 Soffit

[ Question ID : 16794327728 ]
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Chosen Option : 1
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Status : Answered |

Q.4 Which law states that the rate of increase of pressure in a vertical direction is equal to weight density of fluid at that
point?

Ans 1. Pascal’s Law
/< 2. Isothermal Law
v 3. Hydrostatic Law

/< 4 Newton’s Law of Fluids

Question ID : 16794327620

Chosen Option : 1

Status : Answered
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Question ID : 16794327657

Chosen Option : 2

Status : Answered

Q6 WWhich of these is a natural contaminant of air?
Ans X 1. Dust

v 2 Pollen Grains

X 3. SOy

/< 4 Smoke

Question ID : 16794327651

Chosen Option: 1

Status : Answered

Q.7 Inwhich stage in a river system does the river flow along an undulating topography and the gradient is very high?

Ans " 1. Mature stage
/< 2. Old stage
+ 3. Juvenile stage

/< 4. Incipient stage

Question ID : 16794327724

Chosen Option: 1

Status : Answered
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Ans

# 1. Reactive

< 2. Odourless

v 3. Non-corrosive
#< 4 Non-flammable

GET IT ON
Google Play

Which of these is NOT a nature of generally used chlorofluorocarbons?

Question ID : 16794327653
Status : Answered
Chosen Option : 2

Ans

Q9 wWhat is the Poisson’s ratio of Ice?

X 1029
X 2 037
V'3 033
K 4 048

Question ID : 16794327699
Status : Answered
Chosen Option: 1

0
Ans

v o
2EL

PP
36 EI
PI?
48 EI
PI?
8 EI

X2

X 3

X 4

Q.1 What is the deflection at the free end of a cantilever beam subjected to a concentrate load P at the free end (where
elasticity E and moment of inertia I are constant)?

Question ID : 16794327704
Status : Answered
Chosen Option: 1

Ans

°1‘1 Which equipment is used for finding soundness of cement?

« 1. Le-Chatlier apparatus

#< 2. Core cutter
/< 3. Permeability apparatus

/< 4. Vicat apparatus

Question ID : 16794327674
Status : Answered
Chosen Option : 1
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Question ID : 16794327680
Status : Answered
Chosen Option : 4

Q§1 The shape of the stress-strain curve of concrete up to a strain of 0.002 is
Ans X 1. Linear
/< 2. Hyperbolic

/< 3. Semi circular
+ 4 Parabolic

Question ID : 16794327732
Status : Answered
Chosen Option: 1

Q.1

, Fora circular section. the elastic modulus (Ze) is:

(d = diameter)
Ans L3 3
v = Xd

X2 X xd

Question ID : 16794327696
Status : Answered
Chosen Option: 1

Q.1 B
5 1 N/mm?is equal to:

Ans X' 1. | Pa

v 2 1 MPa
X 3. 1 GPa
X 4 1KPa

Question ID : 16794327637
Status : Answered
Chosen Option : 1
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Q.1 Flakiness index and elongation index test is NOT applicable to aggregate sizes smaller than

GET IT ON
Google Play

6
Ans 1. 236 mm

A 2 10 mm

V'3 63 mm

X 4 4,75 mm

Question ID : 16794327675
Status : Answered
Chosen Option: 4

°7'1 Maximum Principal Stress Theory is also known as:

Ans 3 1. Beltrami and Haigh’s theory
/< 2. St. Venanat’s Theory
/< 3. Coulomb’s Theory
+ 4 Rankine’s Theory

Question ID : 16794327641
Status : Answered
Chosen Option: 4

Q; The average specific gravity of course aggregate varies from:

Ans 510 2.0to 4.0

V2 261028
<3 22t03.0
K4 20t02.9
Question ID : 16794327676
Status : Answered
Chosen Option : 2
Q; Flow net is an important tool in analysing irrotational flow problems

Ans 5 1. 3 Dimensional
/< 2. 1 Dimensional
/< 3. 5 Dimensional

v 4 2 Dimensional

Question ID : 16794327622
Status : Answered
Chosen Option: 1

062 Ratio of the change in pressure to the fractional volume compression is called

Ans  of 1. Bulk Modulus
/< 2. Poisson’s Ratio
/< 3. Longitudinal Strain
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X 4 Volumetric Strain

Question ID : 16794327697
Status : Answered
Chosen Option: 1

Q.2 “The longitudinal strain is uniform across the cross-section of the cylinder™. This assumption is reasonably

1 good for a large portion except near the ends. The theory based on this assumption is called:

Ans 1. Coulomb’s Theory
/< 2. St. Venant’s Theory
/< 3. Maximum Strain Energy Theory
« 4 Lame’s Theory

Question ID : 16794327643
Status : Answered
Chosen Option : 1

Qéz The flow is said to be critical flow if Froude number is
Ans o 1. Equal to 1
/< 2 Equalto 0

75 3 Lessthan 1
/< 4 More than |

Question ID : 16794327624
Status : Answered
Chosen Option : 2

Qéz Dutch bond is a modification of

Ans 3 1. Single Flemish bond

/< 2. Header bond
+ 3. English bond

/< 4 Stretcher bond

Question ID : 16794327736
Status : Answered
Chosen Option : 2

Qf The preventive measure adopted to reclaim a water logged area is?
Ans 3 1. Lining of lands

/< 2. Using of weir

/< 3. Lowering the full supply level

+ 4 Installation of lift irrigation system

[ Question ID : 16794327659 ]
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Status : Answered
Chosen Option : 1

Q.2 Which of these factors are NOT considered during selection of cross-drainage structure?
5
Ans  of 1. Direction of water flow
/< 2. Size of the canal and drainage

/< 3. Economic considerations

/< 4. Difference in discharge of water

Question ID : 16794327660
Status : Answered
Chosen Option : 1

Q.2 During the second stage of anaerobic digestion of waste water, it is necessary to maintain proper

6

Ans X 1. Pressure
/< 2. Impurities
& 3. Volume
v + pH

Question ID : 16794327650
Status : Answered
Chosen Option : 1

Q.2 Distance between the centre of two consecutive rivets measured along a row is called

7
Ans 3 1. Eccentricity
v 2 Pitch
/< 3. Edge distance
/< 4. Gauge

Question ID : 16794327719
Status : Answered
Chosen Option : 2

Q.2 AsperIS: 3495 (part I), what is the loading rate used to find the compressive strength of bricks?
8

A 1 14 N/m? per minute
X 2. 40 N/m? per minute
X 3. 45 N/m? per minute

X 4 4N/m? per minute

Question ID : 16794327678
Status : Answered
Chosen Option : 4
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Qéz Which of these parameters do/does NOT influence the design of a harbour?

Ans 1. Waves
v 2. Rainfall
< 3. Tides
& 4 Wind

Question ID : 16794327665
Status : Answered
Chosen Option: 1

063 Which of these is NOT a method used to control dust while constructing tunnels?

Ans X 1. Use of respirators

/< 2. Use of vacuum head

/< 3. Wet drilling
v 4 Use of face mask

Question ID : 16794327669
Status : Answered
Chosen Option: 1

Q.3 surface of erosion or non-deposition that separates the younger rock formations from the older rock formations is called

1
Ans o 1. Unconformity

/< 2. Folds

X 3. Faults
/< 4 Joints

Question ID : 16794327684
Status : Answered
Chosen Option : 2

Q3 A joint when provided in the length of a column is called
Ans X 1. Batten

/< 2. Lacing

' 3. Splice

/X 4 Lugangle

Question ID : 16794327718
Status : Answered
Chosen Option: 3

°é3 Which of the following methods is used to determine the water content?

Ans o 1. Radiation Method
/< 2. Sieve Analysis
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/< 3. Pipette Method
7% 4. Hydrometer Method

Question ID : 16794327634
Status : Answered
Chosen Option: 4

Q.3 The wall that are supported and restrained against lateral deflection along one to four sides is called

4
Ans X 1. Stocky wall

< 2. Un-braced wall
75 3. Slender wall
+ 4 Braced wall

Question ID : 16794327733
Status : Answered
Chosen Option : 4

053 Which of the following tests is used to measure the wear of stones?
Ans  of 1. Attrition test
/< 2. Crushing test

/< 3. Soundness test
/< 4. Impact test

Question ID : 16794327682
Status : Answered
Chosen Option : 4

@3 Contour lines can intersect only in the case of an
Ans < 1. Steep plan

& 2. Vertical cliff
/< 3. Inclined plan

« 4 Overhanging cliff

Question ID : 16794327688
Status : Answered
Chosen Option: 4

@3 Ability of rock to pass water through itself is called:
Ans 1. Flow Time

+ 2. Permeability

< 3. Void Ratio

/< 4. Porosity
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Question ID : 16794327648
Status : Answered
Chosen Option : 2

Qé3 For high-strength friction bolts, what is the factor of safety for wind load?

Ans o112
X2 1.15
X314
X415

Question ID : 16794327722
Status : Answered
Chosen Option : 1

Q.3 The partial factor of safety for steel in limit state design in the design of Reinforced Concrete Structure is:
9

Ans X1 1.75
v 2 1.15
X 3 1.65
X415

Question ID : 16794327731
Status : Answered
Chosen Option : 2

Q.4 ; E o . :
o Hydrometers are generally calibrated at degrees Celsius.
Ans x 1. 29
7
8

X X €
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Question ID : 16794327635
Status : Answered
Chosen Option : 2

°1'4 A stair should NOT have a pitch more than
Ans X 1. 350
X 2 45°
v 3 40°
X 4 30°

Question ID : 16794327727
Status : Answered
Chosen Option : 4
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Question ID : 16794327715
Status : Answered
Chosen Option : 2
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Question ID : 16794327685
Status : Answered
Chosen Option: 4

Qf Which one of these methods is used to find the in-situ density of soil?

Ans % 1. Pycnometer Method
#< 2. Torsion balance method
< 3. Alcohol Method
+ 4 Rubber Balloon Method

Question ID : 16794327628
Status : Answered
Chosen Option: 1

Qé“ Which of the following is FALSE about vitrified sewer pipes?
Ans X 1. Highly resistant to sulphide corrosion

/< 2. Highly imperious

7< 3. High compressive strength

« 4 Light weight

Question ID : 16794327711
Status : Answered
Chosen Option : 4

Q4 5 day BOD is taken at a temperature of
Ans « 1. 20 °C
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X2 15°C
X 3.10°C
X4 0°C

Question ID : 16794327712
Status : Answered
Chosen Option: 1

Q.4 Which of these resistances is NOT overcome by the engine of a vehicle moving at a certain speed?
7

Ans 1. Air Resistance
< 2. Grade Resistance
' 3. Frictional Resistance
/< 4 Rolling Resistance

Question ID : 16794327662
Status : Answered
Chosen Option: 4
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Question ID : 16794327710
Status : Answered
Chosen Option: 1

%* Which of the following is NOT considered as dead load

Ans o 1. Erection load
/< 2. Self-weight of the floor slab

/X 3. Self-weight of a beam
75 4. Self-weight of a column

Question ID : 16794327694
Status : Answered
Chosen Option: 1

Q.5 What is defined as the ratio of power given by water to the runner of a turbine to the power supplied by the water at the
0 inlet of the turbine?

Ans 3 1. Mechanical Efficiency
/< 2. Volumetric Efficiency
/< 3. Overall Efficiency
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v 4 Hydraulic Efficiency
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Question ID : 16794327625
Status : Answered
Chosen Option : 4

1

Ans

clear all poisoned gases and dust in tunnels?

7< 1. 20 min
v 2. 30 min
X 3. 25 min
& 4. 15 min

Q.5 What is the time gap between explosion and mucking process, within which the ventilation system installed should

Question ID : 16794327667
Status : Answered
Chosen Option : 1

Q.5 Process of taking levels on each side of a main line at right angles to that line is called
2

Ans 1. Differential levelling

« 2. Cross-section levelling

/< 3. Profile levelling

7< 4. Reciprocal levelling

Question ID : 16794327692
Status : Answered
Chosen Option : 2

Ans

°é5 Bangalore falls under which seismic zone?

< 1. Zone III
v 2 Zonell
< 3. Zone IV
X 4 ZoneV

Question ID : 16794327695
Status : Answered
Chosen Option: 3

Ans

Q.5 . . .
o+ Hydrograph is a graphical Representation of :

+ 1. Runoff and Time

/< 2. Cumulative Rainfall and Time
/< 3. Discharge and Time

/< 4. Rainfall Depth and Time

Question ID : 16794327655
Status : Answered
Chosen Option: 4
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055 Effective area of fillet weld is equal to the product of
Ans X 1. Effective length and effective width

« 2. Effective length and effective throat thickness

#< 3. Effective throat thickness and effective width
/< 4. Effective throat thickness and transverse spacing

Question ID : 16794327717
Status : Answered
Chosen Option : 2

Qés Which of these shaped traps are NOT used in water closet?
Ans " 1. P Trap

v 2. C Trap

/< 3. S Trap

75 4. Q Trap

Question ID : 16794327649
Status : Answered
Chosen Option: 4

°7'5 The ratio of lateral strain to linear strain is known as
Ans X 1. Youngs’s Modulus

/X 2. Hooke's Law
75 3. Volumetric Strain
+ 4 Poisson’s Ratio

Question ID : 16794327638
Status : Answered
Chosen Option: 4

Qé5 If fy is the yield stress, then the permissible shear stress for a steel structure is
Ans 1. 0.4 1,
V2 045F,

K3 061
X 4 0.66 f,

Question ID : 16794327713
Status : Answered
Chosen Option : 1

Q.5 What is the top diameter and bottom diameter, respectively, of the frustum of the cone used in slump test apparatus that
9 isused to find the consistency of concrete?
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Ans 1. 15 cmand 25 cm
/2 10 cmand 30 cm
& 3 15cmand 30 cm
« 4 10 cm and 20 cm

Question ID : 16794327677
Status : Answered
Chosen Option: 4

Q¢ Petrology deals with the study of .
Ans & 1. Minerals
« 2. Origin and characteristics of rocks
< 3. Structure of earth

/< 4. Characteristics of petroleum products

Question ID : 16794327683
Status : Answered
Chosen Option: 4

Q.6 Which type of support prevents the movement of the support in each of the three directions?
1

Ans 1. Roller support

/< 2. Ball support

/< 3. Fixed support

+ 4 Ball and socket support

Question ID : 16794327701
Status : Answered
Chosen Option: 3

2% In self-cleansing velocity,

Ans 3¢ 1. Solid particles will float on surface and does not move
7< 2. Solid particles does not move with water

« 3. Solid particles in suspension move along with water

/< 4 Solid particles get settled at the bottom

Question ID : 16794327706
Status : Answered
Chosen Option : 3

Q:;f Which instrument is used to measure Arbitrary Bearing?
Ans  of 1. Theodolite
/< 2. Cylone ghat tracer

/< 3. Astronomical observations
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/< 4. Pantagraph

Question ID : 16794327686
Status : Answered
Chosen Option : 1

Q.6 Measurements taken using photographs as the prime non-contact medium is called
4

Ans X 1. Tellurometer

/< 2. Remote sensing
+ 3. Photogrammetry
X 4. EDM

Question ID : 16794327737
Status : Answered
Chosen Option : 2

%¢ The pressure of fluid is measured by:

Ans 1. Notch
v 2. Manometer
#< 3. Barometer
X 4 Orifice

Question ID : 16794327621
Status : Answered
Chosen Option : 3

Q.6 Ratio of the volume of voids to the volume of soil solids in the given soil mass is known as
6

Ans X 1. Absorbency
v 2. Void ratio
/< 3. Porosity
< 4 Penetration capacity

Question ID : 16794327633
Status : Answered
Chosen Option : 2

Q.6 According to LS. specifications, rivets or bolts carrying a calculated shear stress through a packing more than 6 mm
7  thick should be increased by how many percentage for each 2 mm thickness of packing?

Ans X 1. 3.5%
X 2 1.5%
< 3 5%

v 4 2.5%

Question ID : 16794327721
Status : Answered
Chosen Option : 2
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Qé“ What is the major source of atmospheric moisture for precipitation?
Ans X 1. Evaporation from ponds

« 2. Evaporation from oceans

7< 3. Evaporation from wells

/< 4. Evaporation from rivers

Question ID : 16794327670
Status : Answered
Chosen Option : 2

Qé6 Which instrument can be used to measure the area of a plan of any shape?

Ans 3 1. Ceylon ghat tracer
X 2. Tellurometer
/< 3. Sextant

v 4 Planimeter

Question ID : 16794327693
Status : Answered
Chosen Option: 1

Q.7 is the number of vehicles moving in a specified direction on a given lane or roadway that pass a
0 given point or cross-section during a specified unit of time.

Ans X 1. Traffic Capacity

v 2 Traffic Volume
/< 3. Traffic Density

< 4 Practical Capacity

Question ID : 16794327673
Status : Answered
Chosen Option: 3

°1'7 Detention time is the ratio of

Ans  of 1 Volume to flow rate

/< 2. Flow rate to density
7< 3. Volume to density
/< 4. Density to flow rate

Question ID : 16794327709
Status : Answered
Chosen Option: 1

01;7 Water that forms a hydration shell around soil grains is known as

Ans X 1. Structural water
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/< 2. Pore water
/< 3. Infiltered water
v 4 Solvate water

Question ID : 16794327636
Status : Answered
Chosen Option: 3

°é7 Analysis of space trusses can be carried out using

Ans 1. Mohr’s method
+ 2. Combination of section method and joint method
/< 3. Shape factor and joint method
/< 4. Only shape factor

Question ID : 16794327702
Status : Answered
Chosen Option : 3

Q.7 sewer that receives sewage from the collecting systems and conducts it to a point of final discharge or to disposal plant
4 iscalled :

Ans X 1. Relief sewer
/< 2. Lateral sewer

/< 3. Intercepting sewer
v 4 Outfall sewer

Question ID : 16794327707
Status : Answered
Chosen Option : 4

05;7 Which of these soils are deposited by wind action?
Ans & 1. Glacial soil

/5 2. Volcanic soil
X 3. Alluvial soil
v 4 Aeolian soil

Question ID : 16794327671
Status : Answered
Chosen Option : 4

067 A flow is said to be Sub-sonic Flow if the Mach number is

Ans 5 1. More than 1
/< 2 Equalto 0

/< 3. Equal to 1
o 4 Lessthan 1
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Question ID : 16794327623
Status : Answered
Chosen Option : 4

0%7 What is the bulk modulus for steel in N/m2?
Ane X1 125X 10°

v 2 160X 10°

X3 22x10°

X4 75% 10°

Question ID : 16794327700
Status : Answered
Chosen Option : 3

Qé7 Which of the following tvpes of survey is NOT based on the object of survey?
Ans < 1. Engineering survey

/< 2. Geological survey

/< 3. Military survey

+ 4 Astronomical survey

Question ID : 16794327690
Status : Answered
Chosen Option : 3

Q.7 Inwhich of the following tests is the solid specimen of soil subjected to direct stress in three mutually perpendicular
9 directions?

Ans &< 1. Direct Shear Test
/< 2. Unconfinedd Compression Test

/< 3. Vane Shear Test
« 4 Triaxial Compression Test

Question ID : 16794327630
Status : Answered
Chosen Option : 4

068 In a column, the ratio of its effective length to radius of gyration is called:

Ans 3 1. Bulk Modulus

v 2 Slenderness Ratio
/< 3. Poisson’s Ratio
75 4. Young’s Modulus

Question ID : 16794327645
Status : Answered
Chosen Option : 2
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°1-8 Which of the following is NOT an effect of Fly Ash on cement concrete?

Ans 1. Reduces permeability of concrete
« 2 Increases the heat of hydration of concrete

# 3. Reduces the amount of air entrainment
/< 4. Slightly improves resistance to sulphate attack

GET IT ON
Google Play

Status : Answered
Chosen Option : 3

Question ID : 16794327679

Q.8 The constituent of cement that is responsible for all the undesirable property of cement due to its strong reactive nature
2 ofthe Portland Clinker phases is:

Ans 1. Tri-calcium silicate
7% 2. Di-calcium silicate
/< 3. Tetra-calcium alumino ferrite

' 4 Tri-calcium aluminate

Status : Answered
Chosen Option: 3

Question ID : 16794327730

Q.8 Which geometrical method is used to find principal planes, maximum shear stress and their planes?
3

Ans  of 1. Mohr’s Circle of Stress
/< 2. Macaulay’s Method

75 3. Moment Area Theorem
X 4 SFD and BMD

Status : Answered
Chosen Option: 1

Question ID : 16794327640

Q.8 Who was the first Swiss Mathematician to derive theoretical expression for buckling load?

4

Ans X 1. Rankine
X 2. Coulomb
/< 3. St. Venant

v 4 Ieonard Euler

Status : Answered
Chosen Option: 4

Question ID : 16794327644

@8 Pandrol Clips are used in which railway tracks?

Ans 1. Bullet train tracks
/< 2. Light rail tracks
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+ 3. Ballast-less tracks
/< 4. Dedicated freight corridor tracks

Question ID : 16794327664
Status : Answered
Chosen Option : 4

Qés What is the formula to find the nominal diameter of rivet using Unwin’s Formula?

e K1 4234t
X2 5354t
X3 375t
v i 6044t

Question ID : 16794327723
Status : Answered
Chosen Option : 4

07-8 Width of carriageway for a single-lane road according to Indian Road Congress is:

Ans 1. 325m
V2 375m
3 3.50m
A 4 4.00m

Question ID : 16794327672
Status : Answered
Chosen Option : 2

Q.8 As per IS 456-2000, the ultimate load in an RC structure in which effect of wind and earthqualke load is neglected.
g should be:

Ans 1. 1.5DL+0.5LL
X2 12DL+25LL
V3 1.5DL+221LL
X4 1.5DL+18LL

Question ID : 16794327735
Status : Answered
Chosen Option : 4

Qés A compound lens free from spherical aberration is known as
Ans X 1. Elimination of parallax

+ 2. Aplanatic combination

/< 3. Magnification

/< 4 Achromatic combination

[ Question ID : 16794327691 ]
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Chosen Option : 1

GET IT ON
Google Play

Status : Answered J

Q.9 For simply supported slab, what is the minimum thickness of solid one-way slab taking vertical deflection
0 criteria in consideration?

Ans X1 L/8
X2 1L/24
v 3 120
X 4 1L/10

Question ID : 16794327734

Chosen Option: 3

Status : Answered

°1'9 Most suitable chemical to reduce the evaporation of water is?
Ans 1. Methyl Alcohol

< 2. Butyl Alcohol

« 3. Cetyl Alcohol

/< 4 Ethyl Alcohol

Question ID : 16794327654

Chosen Option : 3

Status : Answered

Q9 Shape factor may be defined as the ratio of

Ans 1. Elastic Modulus to Plastic Modulus
/< 2. Plastic Modulus to Rigidity Modulus

/< 3. Elastic Modulus to Lateral Strain
« 4 Plastic Modulus to Elastic Modulus

Question ID : 16794327698

Chosen Option: 4

Status : Answered

Qé9 A curve that changes the alignment of road from downhill to uphill is called

Ans  of 1. Sag Curve

7% 2. Transition Curve
/< 3. Summit Curve
X 4. Reverse Curve

Question ID : 16794327689

Chosen Option: 3

Status : Answered

Qf Which of these is an indirect method for the determination of stream flow?
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Ans 1. Dilution techniques
« 2. Slope area method

75 3. Ultrasonic method
/< 4. Area Velocity method
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Question ID : 16794327656
Status : Answered
Chosen Option: 4

Q.9 : i 2
5 Which of these produces dangerous photochemical smog?

Ans 1. Lead
& 2. Benzene
#< 3. Carbon Monoxide
« 4 Hydrocarbons

Question ID : 16794327652
Status : Answered
Chosen Option: 1

Qég Which gas is the basic cause of Crown Corrosion?
Ans  of 1. HpS

X 2. NHj

/< 3. CHy

X 4. COy

Question ID : 16794327708
Status : Answered
Chosen Option: 1

Qf Ratio of shearing stress to shearing strain is known as

Ans X 1. Polar Modulus
& 2. Bulk Modulus
v 3. Rigidity Modulus
/< 4. Modulus of Elasticity

Question ID : 16794327646
Status : Answered
Chosen Option : 3

29 Hooke’s law is valid up to what limit?

Ans  of 1. Elastic Limit
/X 2. Ultimate Stress
/< 3. Breaking Point
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< 4. Plastic Limit

Question ID : 16794327639
Status : Answered
Chosen Option: 1

Q.9 Narural rupture along with the opposite walls have moved with respect to each other is called
9

Ans o 1. Fault
/< 2. Conglomerate

/< 3. Cleavage
& 4. Joint

Question ID : 16794327687
Status : Answered
Chosen Option: 3

%‘J Which ventilation system is suitable for tunnels longer than 4-5 km?
Ans % 1. Natural Ventilation system

« 2. Transverse airflow ventilation system

7% 3. Mechanical system

/< 4. Longitudinal ventilation system

Question ID : 16794327668
Status : Answered
Chosen Option : 4

Q! Which of these solid wastes is used in Ceramic Industry?
Ans 3 1. Chromium Sludge

/< 2. Fly Ash

+ 3 Blast Furnace Slag

X 4 Red Mud

Question ID : 16794327647
Status : Answered
Chosen Option: 3

Q.1 The type of flow in which the velocity at any given time does NOT change with respect to space is known as:

02
Ans 1. Steady Flow
/< 2. Compressible Flow

v 3. Uniform Flow
/< 4 Laminar Flow

Question ID : 16794327619
Status : Answered
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l Chosen Option : 1 J

Q.1 A surveying instrument in which a single observer can bisect two ranging rods simultaneously to set perpendicular is:

03

Ans 1. Cross staff
v 2. Sextant
/< 3. Dumpy level

/X 4 Clinometers

Question ID : 16794327726
Status : Answered
Chosen Option: 1

Q.1 The wastewater from bathrooms, kitchens, washing places and wash basin, etc. is called
04

Ans X 1. Garbage
/< 2. Sanitary sewage
# 3. Rubbish
W 4 Sullage

Question ID : 16794327705
Status : Answered
Chosen Option : 2

Q.1 The shortest distance from the root of the fillet weld to the face of the weld is called
05

Ans 1. Effective area
v 2. Effective throat thickness
X 3. Effective length

/< 4 Effective depth

Question ID : 16794327716
Status : Answered
Chosen Option : 2

Q1 Which of these is NOT a function of check rail?

Ans & 1. Protection from derailment

« 2. Protection for interlocking system of railway track
/< 3. Protection for flange from excessive wear

75 4 Protection from excessive wear of rail

Question ID : 16794327663
Status : Answered
Chosen Option : 2

Q.1 Combined use of surface and sub-surface water in judicious manner to derive maximum benefit is termed as

07
Ans
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+ 1. Conjunctive use of water

/< 2. Balanced use of water
/< 3. Over usage of water

/< 4. Effective use of water
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Question ID : 16794327658

Chosen Option: 4

Status : Answered

Q.1 If it is the thickness of the plate, tacking rivets should have a pitch in line NOT exceeding:
08

Ans X 1. 32t or 200
v 2 32tor 300
< 3. 16t or 300
& 4 16t or 200

Question ID : 16794327720

Chosen Option: 4

Status : Answered

Q.1 A fluid in which shear stress is more than the vield value and shear stress is proportional to the rate of shear strain is
09 kunownas:

Ans X 1. Newtonian Fluid
X 2. Ideal Fluid
& 3. Real Fluid
v 4 Ideal Plastic Fluid

Question ID : 16794327618

Chosen Option: 4

Status : Answered

Q.1 According to Highway Research Board, into how many primary groups is soil classified into?
10

Ans X 1. 8 types

11 strain in it reaches the value of the strain in uniaxial stress at elastic limit.

Ans 3 1. Maximum Principal Stress Theory
« 2. Maximum Strain Theory
75 3. Maximum Distortion Energy Theory

v 2. 7 types
/< 3. 6types
/< 4. 10 types
Question ID : 16794327629
Status : Answered
Chosen Option: 1
Q.1 According to , failure in a complex system occurs when the maximum
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7< 4. Maximum Shear Stress Theory

Question ID : 16794327642
Status : Answered
Chosen Option : 2

Q.1

1o Plain cement concrete has a unit weight of:

Ans XK1 20 KN/m3
v 2 24 KN/m?
X3 18 KN/m?
X 4 26 KN/m?

Question ID : 16794327729
Status : Answered
Chosen Option : 2

Q.1 Thin tabular bodies of magma which essentially penetrate parallel to the bedding planes of foliations of the country
13 rocks is known as »

Ans o 1. Sills
< 2. Lopoliths
< 3. Laccoliths
/< 4 Dykes
Question ID : 16794327725
Status : Answered
Chosen Option : 3
%! How many major river basins does India have?
Ans X113
X215
X 310

v 12

Question ID : 16794327661
Status : Answered
Chosen Option : 4

‘351 Pascal’s Law states that . pressure at a point is equal in all directions.

Ans 3 1. in a turbulent flow
# 2 in a laminar flow
v 3. in a static fluid

/< 4. in a liquid at rest

Question ID : 16794327626
Status : Answered



https://applink.adda247.com/d/XhqWf9lSap

Adda2i?

l Chosen Option : 2 J

‘3-61 Which of the following method is NOT a category of tunnelling methods?

Ans 1. Ring drilling method
« 2. Pressure and pump method

X 3. side drift method
/< 4 Groove method

Question ID : 16794327666
Status : Answered
Chosen Option : 4

0171 Which test is used to determine the undrained shear strength of cohesive soil?

Ans X 1. Triaxial Compression Test
v 2. Vane Shear Test
/< 3. Direct Shear Test
/< 4 Inter Laminar Shear Strength Test

Question ID : 16794327631
Status : Answered
Chosen Option: 1

Q.1 Piles that are used in locations where increase in the end bearing area is desired are called:
18

Ans  of 1. Western button bottom piles
/< 2. Swage piles
/< 3. Raymond piles

/< 4. Union metal monotube piles

Question ID : 16794327632
Status : Answered
Chosen Option : 4

Q.1 What is defined as the minimum water content at which a soil will just begin to crumble when rolled into a thread
19 approximately 3 mm diameter

Ans 1. Liquidity Index
/< 2. Liquid Limit
< 3. Plastic Index
v 4 Plastic Limit

Question ID : 16794327627
Status : Answered
Chosen Option : 2

Q.1

5o Plastics are examples of



https://applink.adda247.com/d/XhqWf9lSap

Addas

Ans 1. anhydrides
' 2. polymeric materials

/< 3. ceramic materials

X 4 elastomers

Question ID : 16794327681
Status : Answered
Chosen Option : 2

Section : General Ability

Q.1 ST T AR & gU A A F, AT FE A A @A A4 8, Ao Ferer & foram A P F 3 E
T,y @ HE FEtOd 87

Ans X1 T
X 2 ==
v 3 Rar
X4 oS

Question ID : 16794327740
Status : Answered
Chosen Option: 3

Q.2 ws mam F 18 ws% £ S Feater F Tend §) qfE ¥ wgH Fr FEw F 344 § 3w T wmwt & w
T, et f Fo TE @ 23§, #a A asfear fr we e g7

Ans o112
X210
X315
X4 8

Question ID : 16794327746
Status : Answered
Chosen Option : 1

Q.3 Select the option that is relation to figure C in the same way was figure B is related to figure A.

A B Cc D

AN |

Ans

Ko

X 2



https://applink.adda247.com/d/XhqWf9lSap

Addal2417

GET IT ON

Google Play

Question ID : 16794327747
Status : Answered
Chosen Option : 4

Q4 (Choose the similar pair for the following:

225:16: -
Ans of 1196 15
X2 144: 12
K3 442:21
X 4 400 19

Question ID : 16794327739
Status : Answered
Chosen Option: 1

Q.5 A figure is given followed by four alternatives 1, 2, 3 and 4. Choose the alternative which most closely resembles the
mirror image of the given figure.

O

3

Ans

X ]

X2

x| U

Question ID : 16794327745
Status : Answered
Chosen Option: 4

Q.6
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Select the option that will correctly replace the question mark (?) in the series.
0,2,6,12,20,30,42, 56, 72,7

Ans X192
v 2 90
< 3. 86
X482

Question ID : 16794327738
Status : Answered
Chosen Option : 2

Q.7 Four number-pairs have been given out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.

Ans of 1. 15215

X 219247
X3 17-221
X 4 13- 169

Question ID : 16794327744
Status : Answered
Chosen Option: 1

Q8 IfB=3, G=8, then LANGUAGE =?
Ans X179

< 2 69

V'3 76

X 4 68

Question ID : 16794327742
Status : Answered
Chosen Option : 3

Q.9 In the following problem. out of four figures marked 1. 2. 3 and 4, three are similar in a certain manner. However one
figure is not like the other three. Choose the figure which is different from the rest.

1 2 3 4

2 v

Question ID : 16794327741
Status : Answered
Chosen Option : 3

Q.1
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Find the minimum number of straight lines in the following figure.

/
ANZAN

Ans x 1. 20

Question ID : 16794327743
Status : Answered
Chosen Option: 3

Q.1 If the interior angle of a regular polygon is 135°, then the number of sides of the polygon is:
1

Ans x 1.8
X26
v g
K45
Question ID : 16794327756
Status : Answered
Chosen Option: 4
21 Which of the following ratio is the same as 435:25 2
Ans X151 1
X2 2:1
3 41
X4 7:10

Question ID : 16794327753
Status : Answered
Chosen Option: 3

Q.1 The average of 2,7,6 and x is 5 and the average of 18,1,6,x andy is 10 . Then the value of y is:
3

Ans X 1. 30
v'2 20
X310
K45

Question ID : 16794327750
Status : Answered
Chosen Option : 2
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Q.1 The height of a right circular cone is 21 m and the radius of its base is 28 m. The total surface area of the cone is:
4 22
(z= =)

-

e X sa45 m?

X 2 5554 m?
X 3. 5545 m?
v 4 5544 m2

Question ID : 16794327757
Status : Answered
Chosen Option : 4

@1 The sum of all the 2 -digit numbers that are divisible by 3 is:

Ans X 1. 1645
v 2 1665
X 3 1655
X 4 1675

Question ID : 16794327748
Status : Answered
Chosen Option: 1

Q.1 Suppose that the difference of two numbers is1660 . If 12.5% of one number is 7.5% of the other number. then the two
6 numbers are:

Ans of 1 4150,2490
< 2. 4250,2490
« 3.4350,2490
< 4 4150,2390

Question ID : 16794327751
Status : Answered
Chosen Option: 1

. 12 men work for 8 hours a day, they can make 80 chairs in 20 days. Find the number of days required for 30 men to
1 If k fc h day, the ak hairs i d ind th ber of d ired fi
7 make 120 chairs working 6 hours a day.

v 2. 16 days
/< 3. 20 days
/< 4 12 days
Question ID : 16794327755
Status : Answered
Chosen Option : 2
Q.1
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On selling a product, a manufacturer gains 10%, the dealer gets 15% and the retail seller gets 25%. If the retail price of
the product is T 12650, then the cost of production is:

Ans X 1. T 9500
/< 2. T 9000
v 2 Z 8000
&< 4 T 8500

Question ID : 16794327752
Status : Answered
Chosen Option : 4

Q.1 a 6
9 Suppose = Then the value of

Ans of 1. 61/11
X 2 61/21
X3 71/11
X 4 51/21

a®+b? .
15:;

a®—h=

Question ID : 16794327749
Status : Answered
Chosen Option : 1

Q.2 Find the number of years for which a sum of money will triple itself at 25% per annum simple interest.
0

Ans {1_ g
X2 4
X3 12
X4

Question ID : 16794327754
Status : Answered
Chosen Option : 3

Q2 s faue ¥ seER, ¥ # de @ R @ Tew & e o & 9ot & R A
1 &=z =21 % & oo 18 3% & faw )
Ans X 1. 1997

/< 2. 2001

v 21988

< 41984

Question ID : 16794327760
Status : Answered
Chosen Option : 3

U % ol T a¥ sIRT ¥ TTR-FRT a3
Ans 11901
v 2 1848
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X 31945
< 4 1864

Question ID : 16794327761
Status : Answered
Chosen Option: 4

oéz farafaf@a & & froa sereaiar # deee & BT 2019 & 937 o Ear shar?
e wenfer faiE

X 2 SrFETgar JIRTH

X3 gadr qrer

X 4 gl gromaee

Question ID : 16794327765
Status : Answered
Chosen Option: 1

Q.2 faem F9eT ¥ IO ¥ AR, Oetefae # ¥ 5y e & SeEd U9 59 U 9 T
4 TAT F 9R F ITAT? 2

Ans X1 3ETET 2018
X2 r-lb?-nér 2018
v 3 @\ 2019
X 4 fFEeT 2018

Question ID : 16794327763
Status : Answered
Chosen Option: 3

052 A 2019 & Tegdie UH Aw R F . H A & Tgd dledd & 9 H 9g H vy e
me o e s Fa

v 2 FEzw R 9 o

X 2. SfEew ¥AT FAT A

K4 SAEew fEeiT & e

Question ID : 16794327762
Status : Answered
Chosen Option: 4

Q2 F=ffE & 9 FiF @ P o TEEe e § W yEr Rt afed 100 @ sfas s AEt
6 ¥ wRrew ¥ BT S I

A 1 3Eg amer
X 2. oreRTfereTH AU
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X 3. pfgofr sisarer
X 4 goreg feeat

Question ID : 16794327764
Status : Answered
Chosen Option: 4

07-2 T # & #ia T FTeaiam/ma FE Jcd dRd & = T ¥ Fearad 872
e XK. g

By

(z.ﬂ?ﬂi

< 3. TeTRI=AT
X 4 878 9TIY

Question ID : 16794327758
Status : Answered
Chosen Option : 1

§ e & ¥ FiF o et we e § R
Ans X1§?=|'|15:Eh‘r

X 2 sfrmaesr demer

v 3 gE-Frae

X 4 HSGT BT

Question ID : 16794327759
Status : Answered
Chosen Option : 3

Q.2 e 2019 #, faerar &= it & &% F7 F @ oo @ 1, & s & T 87
9 F HEY 92 9 # ¥ UF B

e XK e

X2 d% e g
X3 Al w®e 3%
v+ 3% At FEier

Question ID : 16794327766
Status : Answered
Chosen Option: 4

T Fr @ Fia @ afteEs & as i 3
Ans x1m
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X 2. TFeISeET
X 3. T (FATere)

o 4 Tedl FEH

Question ID : 16794327767
Status : Answered
Chosen Option: 3
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